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#FA1* ¥ 7 A (Wronskian) i7 71 58 2 87 2 452 2 £ F 5 AL
(L)y"-5y'+6y =0 y,(x)=e"y,(
(2)y" -6y +9y=0; y,(x)=e",y,(
@)y -3y +2y=0; y,(x)=¢"y,(x) =€

x) = xe>

1.2 Ffz™ 5= B ¥ des st
(D). y'-y'-12y=0 @ y'+2y'+2y=0 (). y"+2y'+5y=0
(4). y"-8y'+16y =0 (). y"+6y'+25y=0 ©)- y'+7y'+12y=0

2. D FEREABI MM S AR (S fREREE) -
(1) y"-3y'+2y=e* (2) y" -6y’ +9y=e*
() y"+2y +5y=e2* 4) y-2y+y=x-2
(5). y"-5y' +6y=e"

3. D FFPREA AR MeA S AR (B ek EkE) o
(1). y" -5y +6y=e* (2). y"—5y +6y=cos3x
(3). y' -4y +4y=¢* (4). y"+3y=12xe*
(5). y' -3y +2y=e*+2x+3 (6). y"+y —2y=sin3x+e*

4. = 1} Mﬁfﬂ‘#ﬁté\"‘ﬁq\(i FFE) A LA AL
1). y' -5y +6y=e> (2). y" -4y +4y=¢*
(3). y” 2y'+y=x-2 (4). y'+7y' +12y=x*

(5). (D+1)(D-2)y=xe* (6). y”—9y=cos3x+sin3x



(7). y' -6y +9y=2e* +9x
5. Kfggf-a > A58 o
(1). X’y =2xy' +2y=x*(x>0) (2). x’y"=5xy'+13y =0(x >0)
(3). t?y"+21ty’+100y = 0(t>0) @. (x+ 2)2 y'=5(x+2)y'+9y=0(x>-2)
(5). Xy"+2xy'-2y=6x ; y(1)=3, y(@)=-7

6. doddcend S fEHE 1 A LA AL o

(@) (B FFEE-—B)(—ASH)
(1) f(r)=2¢"—3cost 2) Fin=G-2) (3) f(r)=cos’ 2z
2, 0<r<l
(4) f(r)=sin2scost 5) f(n=1-3 l<r<2 6) f(n=r"-2-3
0, =22
(b) (B FF4EE—HE)(—MS %)
1) f()=(@+De” 2) f(=te —e (3) F@)=¢"cos3r
(4) f(r)=e"(2cos3r+sin37) (5) f(r)=e™(3—sinr+cosr)
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(1). f(t)=u(t—3) ). f(t):u(t—E)
2 0<t<?2
3). f(t):2u(t)—u(t—%j @). f(t)={1 2<t<4
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(@) (& FIMEE—R)(— A S o)

M reo=L2 @ o= @) R
s*+4 s+1) 4-3s
253 25—8 35+2
4 F = 5 F = 6 F
4) F(s) o 5) Fs)= o (6) F(s)= 512y
(b) (B TFEE—B)(—AES %)
1
() P 2 _8s+7 @ F(S)_s(Hl)(H)
1 s24+2s+3
B} Pl (s—D(s*—25+2) (8 Fa= (s+2)(s—D(s+1)
65+9 2s—1
(5) i e (6) F(s)= D
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(@). ["esinatdt 2. [te™ sinatdt
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10. 4 N g2 B * > B3 N2 Ao BRI AL o (1T - 40)

M) Liy=e 0=
dt

2) iJrZy:i"nsiur: y(0)=-1
dt
) y+y=-1 : y0)=1,y'(0)=0

(4) _1‘" + 2_1.-" +y=(6t+ De’ »(0)=0, _1"(0) =il

B) y-2v=¢" : p0)=-1



